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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 1664 3.6 0.8 4 88.8 100
2 1662 2.9 1.1 4 72.6 99.9
3 1652 3.9 1.9 6 64.9 99.3
4 1661 5.2 1.9 8 64.8 99.8
5 1653 4.2 1.3 6 69.2 99.3
6 1622 2.7 1.7 6 45.5 97.5
7 1644 3.6 1.8 8 45 98.8
8 1612 3.4 2.3 8 42.7 96.9
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Question Answer Mark 
allocation 


Assessment 
objective 


3 Using economic theory, explain the differences between goods 
A, B and C. 


*for income elastic/inelastic, allow luxury/necessity as an
alternative. Hence: 
Income elastic/luxury because YED greater than 1. Income 
inelastic/necessity because YED lower than 1 
For Normal/Inferior need to identify the sign and then explain the 
correlation in one direction. 


Level 1 1-2 Marks Candidate only defines YED and simply 
identifies differences between the goods 
without explanation or one characteristic 
well-explained e.g. Normal goods identified 
and explained only = 2. 


3-4 Marks Candidate correctly explains either 
Normal/Inferior (B vs. A/C or 
elastic/inelastic* (A vs. C) 


Or candidate identifies both key difference 
without explaining, and defines YED (=3) 


Level 3 5-6 Marks Candidate correctly explains the key 
differences between the three goods, both 
Inferior/Normal and elastic/inelastic. If one 
explained and one identified, then this is 
probably 5.  


6 AO1 2 
AO2 2 
AO3 2 








 


 



Sticky Note

Candidate has now gone on to show that they understand that good C is elastic/ a luxury. Had they contrasted this with goods A and B explaining that those are inelastic/necessities then they would have scored 6, but because they only do one half of the job, they end up with 5.



Sticky Note

B is now identified as an inferior good, with an explanation. Candidate has now explained Normal/Inferior correctly in context and would score 4.



Sticky Note

Identifies A correctly as a normal good and then explains why. At this stage is the answer ended it would be worth 2. One half of one pairing explained.



Sticky Note

Defines YED. If this was all they did then they would have scored 1 mark, but it is not necessary to define YED top score 6 - higher analysis will subsume any identification marks.












 


 



Sticky Note

Whilst the example isn't strictly accurate and they never state that elastic is greater than 1 and inelastic is less than 1, they understand proportionality, that C is a luxury and are attempting to use the +1.4 figure (albeit incorrectly). Although imperfect, this is enough for 6.



Sticky Note

By this point the Inferior/Normal part of the discussion has been well dealt with and the answer would be sitting on 4 for the analysis of normal/inferior plus 1 for the identification of elastic/inelastic next to the table which would be 5.



Sticky Note

This correctly identifies all of the key points about the question and would be worth 2 by itself.








 



Sticky Note

This would have been better with proportionality, but they do deal with elastic/inelastic. The candidate also showed that they understood positive elasticity in their description of C at the end. Thus the decision was that the answer was just worth 4.



Sticky Note

More promising - now states clearly that elastic is greater than 1 and that C is elastic because of this.



Sticky Note

Shows understanding of inelasticity 'not much' and shows that they know that A and B are both inelastic.



Sticky Note

Again, a definition, which isn't worth separate marks, but would have received credit if the answer had stopped at that point.
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(1131-01)04


Examiner
only


3.	 The table below shows the estimated income elasticity of demand figures for three goods.


	 Using economic theory, explain the differences between goods A, B and C.	 [6]
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Good Income elasticity of demand


A +0.6


B -0.2


C +1.4


6























Question  Answer  Mark 
allocation 


Assessment 
objective 


6 Discuss whether the data shown on productivity will make it 
difficult for the UK to reduce its trade deficit. 
 
AO1: Candidate understands productivity and that poor productivity 
can make UK firms uncompetitive by raising costs/ or they 
understand what productivity is but don’t think it really matters.  
AO2: Candidate makes use of the data (e.g. UK productivity is 
below that of the US, France, Germany and the Eurozone as a 
whole) to explain that this will make it hard to improve the trade 
position (exports likely to be weak, imports will tend to rise). 
 
To get 4 marks, answer needs to show a clear understanding of 
productivity (1), use the data (up to 2 done well) and explain clearly 
why the trade deficit might not improve because of the impact on 
costs (up to 2, needs reference to X,M for 2, but must refer to the 
trade balance.). Therefore up to 5 but 4 max without AO4.  
 
Data use = relative comparison 
 
AO4:  
 
Candidate evaluates, either by: 
1) using the data to point out that the UK’s productivity performance 
is better than some countries (esp. Japan) and not much worse 
than the Eurozone as a whole. Or may note that many countries’ 
data is not given – especially China and India, which are likely to be 
key markets in years to come. 
 
Or 
 
2) Explaining that other factors are important. This statement alone, 
however is not worth any credit. A list of ‘it depends’ factors should 
not be given any marks unless one of these factors is explained in 
the context of the question. These may include elasticity of 
demand, quality, which sectors are more important and so on. 
 
3) Might comment on policies which might raise productivity in the 
LR 
 
Answers which treat productivity and production as the same will 
not get more than 2. 
 
 


6 AO1 2 
AO2 1 
AO3 1 
AO4 2 
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Sticky Note

Related back to the Q. But, no evaluation so 4 max and no direct use of data. Therefore scores 3 in total.



Sticky Note

Clear reference to production costs, explained



Sticky Note

Clear understanding of productivity (definition not required, but worth 1)








 


 


 


 


 



Sticky Note

Decent evaluation, but doesn't make direct use of data anywhere. If they had stated the countries here that the UK could export to then it would probably have been worth 6, but would also have been worth 6 if they had directly used the data in some way at any point. Solid answer worth 5.



Sticky Note

Clear explanation of the impact of productivity on trade performance.



Sticky Note

Links productivity to production costs



Sticky Note

Clear understanding of productivity and indirect use of the data.








 



Sticky Note

At no stage does the candidate give any sense that they know what productvity is and how it might affect the UK's competitiveness and trade position. On the other hand, they do indirectly use the data correctly. 1 mark.



Sticky Note

Indirect data use - France does have higher productivity and is indeed close by.



Sticky Note

Seems to be treating productivity and production as synonymous.



Sticky Note

No credit for defining the trade deficit.
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Examiner
only


6.	 UK monthly trade deficit in goods and services reaches £2.4bn


	 Discuss whether the data shown on productivity makes it difficult for the UK to reduce its trade 
deficit.	 [6]
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Question  Answer  Mark 
allocation 


Assessment 
objective 


8 With reference to the data, discuss whether further cuts in 
interest rates are likely to significantly weaken the Australian 
dollar. 


AO1, 2 and 3 
1-2 
Marks 


Limited analysis  
 
Candidate identifies that a fall in interest rates will cause 
the exchange rate to fall. Might draw a simple diagram, but 
no real explanation. Might assert that there will be hot 
money outflows, but does not explain why. Might mix up 
supply and demand factors. 


3-4 
Marks 


Reasonable analysis.  
 
Candidate explains why a cut in interest rates might be 
expected to cause the Australian dollar to fall further. 
Candidate explains: 
Australian banks will now be less attractive to investors, 
causing D for A$ to fall. Or 
Existing holders of A$ may seek higher returns elsewhere, 
causing an outflow of short term capital (S A$ will increase) 
Speculators may fear further falls in the A$ especially as 
government seems determined to weaken it. 
 
Candidate may use a well-integrated diagram, but this is 
not required. 
1 factor (D/S without diagram, up to 3) 
 


 
Further guidance: 
AO1, 2 and 3 well integrated diagram is worth up to 2. 
Impact on D – up to 2 (needs to be fully explained for 2) 
Impact on S – up to 2 (needs to be fully explained for 2) 
 
 


8 AO1 1 
AO2 1 
AO3 2 
AO4 4 
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Question  Answer  Mark 
allocation 


Assessment 
objective 


 Evaluation 
1-2 
Marks 


Limited evaluation –  
 
Throw-away lines like: “It depends on how much 
interest rates are cut” are worth at most 1 mark and 
require some development even for that and they are 
not cumulative – no matter how many under-developed 
evaluative points they make, they will get at most 2 
marks. 
 
Other reasonable evaluation might be long run effects. 
Once the exchange rate has fallen for some time, the 
trade balance may start to improve or further inward 
investment might be attracted, pushing the A$ back up. 
 
Limited evaluative points will tend to be assertive rather 
than explained and will tend not to be in context. E.G. It 
depends on what happens to interest rates in other 
countries. 
 


3-4 
Marks 


Reasonable evaluation: This will be in context 
 
2 points with at least one point that is well applied to the 
case, or one fully applied point with excellent 
development. 
 
This is not 2 limited evaluation points; reasonable 
evaluation requires some sort of depth and will use the 
context. Possible angles might include: 
 
Interest rates have already fallen 7 times, and appear 
not to be having much impact. 
Interest rates in the US/UK/Eurozone are still much 
lower than 2.75% 
Australia may still be experiencing a commodity boom, 
meaning that funds will flow in regardless of the interest 
rate. This will also attract speculators. 
 
 


 


  


 
 
 


© WJEC CBAC Ltd. 


11 





		Blank Page






 


 



Sticky Note

Interest rates linked back to the demand for A$ with an integrated diagram. Answer is worth 4 at this point.



Sticky Note

Clear explanation of the role of interest rates.







 


 


 


 


 


 


 



Sticky Note

Not true in this context, but doesn't lose marks. The view here was that the evaluation was quite strong - there was enough real-world/data reference to move it into the top band, but maybe needed something else to push it to 4/4 - maybe something on the resource boom or such like. Therefore 4+3=7.



Sticky Note

Develops it a bit.



Sticky Note

Relates back to the Question - thinking about 'further cuts, but a little throwaway.



Sticky Note

Good contextualisation - understands that 2.75% may be low in Australia but not globally. This is the type of context that led to high band evaluation (3-4) rather than low (1-2).
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Sticky Note

This is a bit odd and is stretching a bit.



Sticky Note

Integrated diagram linked to i/r.



Sticky Note

BoD on £ vs A$ - we didn't penalise people who slipped into talking about £ when they were under huge time pressure.



Sticky Note

Not ideal wording here.



Sticky Note

True but not worth anything.







 


 



Sticky Note

Context used here, but not well developed.

Each part of the answer was quite good. The analysis of the effect of interest rates was fair but didn't really make the link that clearly. The evaluation had context but wasn't fully developed. Hence 3+3=6.



Sticky Note

Evaluation but hypothetical.



Sticky Note

Data use but not developed.








 


 



Sticky Note

This shows a misunderstanding of the nature of currency supply in forex markets and isn't really credit-worthy. Hence a total of 3 for demand done reasonably well with an imperfect diagram supporting it.



Sticky Note

Decent start linking interest rates to demand. Diagram shows fall in demand, but the lower ex rate is not marked on.
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Examiner
only


8.	 Australian Central Bank cuts interest rates to hold down 
exchange rate


	 Australia’s central bank cut interest rates to a record low of  
2.75% in May 2013, seeking to protect the economy from a 
strong currency that has been driven high by a resources boom 
that attracted a large number of foreign investors into industries 
such as copper and coal mining.


	 The Australian dollar fell after the interest rate cut, but remains 
strong despite a series of seven interest rate cuts over the 
previous two years.


	 With reference to the data, discuss whether further cuts in interest rates are likely to significantly 
weaken the Australian dollar.	 [8]
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Source: Reserve Bank of Australia
The Wall Street Journal


Australian base interest rate


May 8th 2013: 2.75%
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